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SSC Practice Set-4

The sum of three consecutive natural numbers
each divisible by 5, is 225. The largest among
them is

5 ¥ fawrsa @7 HANE Weha @@l @1 a9 225 #)
ITH UEd aE qE BE-Ht §?
(a) 85 (b) 75 (e)70 (d) 80

A can do a piece of work in 18 days. He worked
at it for 12 days and B finished the remaining
work in 8 days. B alone can do the whole work in

AfFftam At 18T A HT THaT ¢ | 36 12 fA &m
forar 3iR viw &™ B 7 8 o7 & g fwam B s/het @

F Hi fovad faT ® QU &Y Tewat o ?
(a) 16 days (b) 24 days (c) 28 days (d) 29 days
The list price of an article is Rs. 900. It is

available at two successive discounts of 20% and
10% . The selling price of the article is:

s 9% &1 3fhd T € 900 B g 20 ¥favE 31% 10
Tfa9Ta o & HANTT QeI & w1 fHerd &1 a%g &1 fama
T 7

(a) Rs. 640 (b) Rs. 648 (c) Rs. 540 (d) Rs. 548

A man spends a part of his monthly income and
saves the rest. The ratio of his expenditure
amount of his monthly savings is 61 : 6. If his
monthly income is Rs. 8710. Find his montly
saving.

s Afh U WIS AT HT B 9N Td ST ¢ i
AHT Hi TUd K 8l Uh AT AR TEd@ & U
61 : 6 & 3R SHT AT 8710 Fo & 7 IqSH! HIfGSH sred
4?72

(a) Rs 870 -~ (b) Rs. 690 - (c) Rs. 980 (d) Rs. 780

An article was sold at Rs. 950 allowing 5%
discount on the marked price. The marked price
of the article is

& o Jfehd Jod W 5 A9 ®it Ge dhT & 950 i
?1 g @1 Sifeha Wod & B2

(a) Rs 960 (b) Rs. 1000 (c) Rs. 955 (d) Rs. 945

A person loses 75% of his money in the first bet,
75% of the remaining in the second and75% of
the remaining in the third bet and returns home
with Rs. 2 only. His initial money was

s Ak U 759fq9Td YT gelt areft, ® 9w &t 75
AiavTd gEd SIS ¥ ST 919 &t 75 UfavE et st o
TR T 3R Had € 2 WHT AUH T UL | ST
Tty T TRt ot?

10.

11.

12.

13.

14.

(a) Rs 64 (b) Rs. 128  (c) Rs. 256 (d) Rs. 512

The time taken by a train 160 m long, running at
72 km/hr , in crossing an electric pole is

72 &, /92 &t Ifd | @ areft 160 Hi, oIt 27 &t
T& Tagd @™ &l UK &3 § fehadl T99 oTar 272

(a) 8 sec (b) 9 sec (¢) 6 sec (d) 4 sec
Ifx+i:4, then 92 +L:?

Ix 9x2

1 9 1
e x+—— =4, T 9x2 4+ —_ =7
9x 9x2

(a) 115 (b) 121 (c) 125 (d) 127
If a=2,b=-3 then the value of
27a> -~ 54a’b + 36ab? - 8b3 is
Tt a=2>b=-3 g at

27a3 - 54a%b + 36ab? - 8b3 &1 WH FAT FM?

(a) 1562 (b) 1616 (c)1676  (d)1728
Possible length of the three sides of a triangle
are

Ts BT & @9 sl &t Gwiiaa aag & git?
(a) 2 cm, 3 cm, 6 cm (b) 3 cm, 4 cm, 5 cm

(c) 2.5 cm,3.5 cm, 6 cm (d)4 cm, 4 cm, 9 cm

AD is the Median of AABC. If O is the centroid
and AO= 10 cm then OD is

AD U& AABC &1 UTfEaaRt § | Af O Shsah &1 3K AO=
10 ¥, g d OD &t TaTg = gHi?

(a) 5 cm (b) 20cm  (¢)10cm (d) 30 cm

If in a triangle ABC, Sin A= Cos B then the value
of Cos C is

ABC ﬂﬁ{@ﬁlﬁﬂABCﬁsinA: Cos B %! d CosC
&1 U famaen 82

@~3/2 10 (©1 @1/+2
Incentre of AABCis 1. ZABC=90° and
ZACB =170°. ZAICis

AABC &T @< I & a9 LABC=90° 3T

ZACB="70°§ @ LAIC Tea &2

(a) 115° (b) 100° (¢)110° (d)105°

The length of the two adjacent sides of a
rectangle inscribed in a circle are 5 cm and 12
cm respectively. Then the radius of the circle
will be

T& g9 § a4 T &t A USE HA : 5 o wt 3iF
12 ©. Wt ot §, dt gu st e fhat aalt gii?
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15.

16.

17.

18.

19.

20.

(b) 6.5 cm (d) 8.5cm

If sinB x cosf =1/2 . The value of sinf - cosb is
where 0° <6< 90°

qfc sinBx cosf=1/2 'zﬁ T sind - cosO T U FAT
B ST8T 0° <6< 90°

(a) 0 (b) V2 (c) 2 d 1

The mean of 100 observations was calculated as
40. It was found later on that one of the
observations was misread as 83 instead of 53.
The correct mean is:

100 J&TUN T WL 40 URlehterd ThaT 74T 81 o€ § 98
2T T T U YA 53 & ST TTerdt & 83 UgT =T 91
g Aeg = @2

(a) 39 (b)39.7

(a) 6 cm (c) 8cm

(c) 40.3 (d) 42.7

a2

1. .
is (a is a

If a3+ L?’ = 2, then value of
a a
positive number)

A ad s 2@ A
a

T gATS T @

(a)1 (b) 2 (3 (d) 4
2) 38

Ifx(3—— :—,thenthevalueofx2+Lwillbe
xl x x2

2 O
a” +1 o1 wm fraT 27 (St a

a

?JI'F({ x(3—g\

X !

=§g}a‘rx2+izammazn%?
X

X

(a) 3 1/2 (b) 3 2/9 (00219 () 24/9

A sphare of radius 5 cm is melted to form a cone
with base of same radius. The height (in cm) of
the cone is

5 . Wt B are Ts Mt &t TUE 5o & NEr arern
T& 9% S & 70 AT ST §1 91 &l Sag (|,
A) femat gri?

(a)5 (b) 10 (©)20 (d) 22

The difference between compound interest and
simple interest on a certain sum of money for 2
years at 5% per annum is Rs. 41. What is the sum
of money?

feRat Tfyr o 5 gfave af X 2 & Tehgls =& ST
WU & & e e & 41 €1 at iyn fwait 82
(a) Rs 7200 (b) Rs.9600 (c) Rs. 16400 (d) Rs. 8400

. A man standing on the bank of river observes

that the angle subtended by a tree on the
opposite bank is 60° . When he retires 36 m from
the bank, he finds that the angle is 30°. The
breadth of the river is

& I & fRR @e1 =t & § T 1€ ur ffR
T g T A HIVT 60° Bl I a8 fhaR & 36 .

22.

23.

24.

25.

YIS 37741 § |t 98 <@l ¢ Tk &ivT 30° §1 A @i Wi

et &2

(a) 15 m (b) 18 m ()16m (d)11lm

Study the bar-graph given below which shows

the % distribution of total expenditures of a

company under various expense and answer the

questions.

o {2 T IR-% HT 1A Wity St TRt st

gmﬁgwuﬁwmﬁﬁw#wﬁmﬁmmﬁ
|
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The expenditure on the interest on loans is more
than the expenditures on transport by

T & o W fowar & @, ufiae W el T w g @
foram erferen 872

(a) 5% (b) 10% (c) 40% (d) 30%

If the interest on loans amounted to Rs. 2.45
crores, then the total amount of expenditure on
advertisement, taxes and research &
development is :

Ife /O W &S ® 2.45 HUS 8, @ TR, 37 3’7
Troe uvs Saeud= W He foran @ gen?

(b) Rs. 4.2 crores

(c) 5.4 crores (d) Rs. 3 crores

The ratio of the total expenditure on
infrastructure and transport to the total
expenditure on texes and interest on loans is:
FORREFER 3 UEET WX el @ qon 299 3T &0 &
S U H @Y T AU T4 272

(a)5:4 (b) 8:7 (©)9:7 (d13:11

If the total expenditure of the company is Rs. 20
crores, then the ratio of expenditure on
transport to that on salary is

Ife O HT FA T E 20 FUS &, A G 3R a7
W @ T U &8 ?
(a)b:4 (b)4:5

(a) Rs. 7 crores

()5:8 d5:8
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— ANSWER KEY
1. (d) 2. (b) 3. (b) 4. (d) 5. (b) 6. (b) 7. () 8. (b) 9.(d) 10. (b)
11. (a) 12. (b)  13. (% 14. ()  15.(a)  16.()  17.(b)  18.(d)  19.(c)  20. (c)

21. (b) 22.(c) 23.(b) 24.(d)  25.(c)

HINT & SOLUTIONS

1. TFirst Method : i é = §
o 5 9 fawfsa 99 shama G ! ﬁ 6
Bx, bx +5, 5x+10 Bl i Ezg
TR — !
B + 5 + 54 5x + 10 = 225 | wm:Ax%:%;m:m
15x + 15 = 225 | BHRIGmERg = <
: Bht &/ &THal
15x = 210 : 7
x =14 ; =§=24fa=r
TIY 9 T = Bx + 10 i
=5x14+10 i 3. First Method :
= 80. | T EE = 200 = - %
Second Method : ! 5—-Mp
(option) ¥— i : TS = 10%
(a) 85 ——>—>80 ——2—75 3T # 225 ! _ 1owe
1 i 10> Mp
T S ] Mp (i 7o) Sp (fasra qo0)
(b) 75 —=2570 — =265 AT = 225 : 5 4
(©) 70 —=2 565 —=2560 AT = 225 i 10 9
(d) 80 —=2—75—=2570 AT = 225 i 50 36
satisfied. i 50unit = 900
TR I T = 80 i 1unit:@
! 50
2. First Method : : 36 unit - 900 36
Fd HH = A x 18 — faa (F93) i 50
d i = @xgg
A e ! 50
W i =18%x18x 2
Ax18=Ax12+Bx8 i =324 x 2 = 648 %o
Ax6=Bx8 | Second Method :
A_4 : T BE = a% = 20%
B 3 ! THRI R T = b% = 10%
1 3
Aaﬁmwz‘h : gﬂ@(m@;\z):(a_l_b_aXb%
B ! e = 3, ! 100 !
9 ! 3
BRiEmEE = 2o ! =(20+10—2O><1O %
Bl &1l ; 100 |
_Ax18 i THA YL = 28%
3 i 1 SifRd Ho (M p) = 100 unit
_4x18 i T2 = 28unit
3 | faFago = Mp — 92 = 72unit
BHRIAmER = 24 feq ! 100 unit = 900 Fo
Second Method : i 1 unit = 9%o
a&AﬁﬁHaﬁIwaﬂéma*rﬁﬂamf{uéw,?ﬁﬁﬁw i 79unit = 9 x 72 = 648Fo
B8 fea & =t 21 !
ie., Ax6=Bx8 4. T|I : oA : A
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61 6 : 67
67 unit = 8710 %o
14unit = 370 %,
67

8710
X

o<d 6 unit = 6

=130x6 =780 %o
1-%e

20 — Mp
fesraqo (Sp) = Mp - 52
20 - 1 =19 unit

19unit =950 %o

lunit = 950 =50%o
19

5 gE = 5% =

20unit = 50 x 20 = 1000 %o

6. r5- ST T 4oy
4 - I |

IR B TRA & a8 A

4

4

4

64

iR o= =

1unit = 2%o
64unit = 2x 64 = 128%o
- U H 128 Fo 9|

7. < = 72 TwH/guer

= 72><£: 20 mtr/sec.
18
e (38) = 160 Hio
W:ﬁ
bl
t =@=8sec.
20
t = 8sec.
Ix
AT AR 3 F IOT FH W—
3x+i:4><3
9x
3x+i:12
3x
9x2+%:(12)2—2
9x
=144 -2
=142
1 2
[“SEx+ —=zadEbx“+—=a
x

70

Cc
ZABC =90°, ZACB="170°

ZABC + ZACB+ #BAC =180°
90+ 70+ £ZBAC =180°

ZBAC = 20°

[ — 3T 5 HIV HHGHISIRI T FHeH fog
A

ZAIC = 9O+'£—23

~g90+20
2

=90+ 45
ZLAIC =135°

ELSIEE] &% g options Id T%TQTHI%I

O ABCO T& 3713d 2

AC = BO = 35q & oot

AC =+I% + b2
= V122 + 57

169

AC =13,

AO=OC=%=;~—)§HH€’TT§W

.+ 3T o favl TEfgaed 3 ©

OA=0C&
OD =0B

* sinB.cosb = l
2

1
0 =45° I sin45 = cos4b = —
| Np
sinB = cosH = i
V2
sinB.cosB = 1 X 1 = 1 satisfied
a2 2
sinB — cosB = sin45— cos45
1 1
=—-—=0 Ans.
V2 V2

. First Method :
100 T&TON HTHET = 40
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T &1 = 53
TTETd JeT0T = 83
IR = 30
T SR % HRU 9T H gl g arml

‘ ¥ ofg = S0
100 S&Toli 1 A1 H gfg 100

=0.3
TE e = 40-0.3
=39.7
Second Method :
100 J&TON T = 40
100 J&TON HTA = 100 x 40
= 4000.
TE T = 53
TTETd J&T0T = 83
= = -30
. 100 J&TON T TE AT
= 4000 - 30 = 3970

100 J&T0T hT T&t J1eT = %

=39.70

Ans.

17. First Method :
a3+i3=2
a
ab+1=242
@®?+1 =243
Let, a® =x
x241=2
x2-2%+1=0
x-D2=0
x—-1=0
x =1
a® =1
a=1
a2+1_12+1_2_2
e 1 1

Second Method :
3, 1 _
et — = 2

Put a=1

(1)

Ans.

satisfied

Ans.

5
3
3(3c—l =2
x|
1 2
x——:_
x 3
x2+i2=?
x
T HA W—
(-2 (2
x—— =\|—
x| 3.
+——2><x><1:é
x 9
x2+ L 94
x? 9
x2+i:é+2
x2 9
:4+18
9
x2+i:§
x? 9
x2+i=2é
x2 9
i
— T —
(sphare)aﬁ?ﬂu 2it(cone)
-+ T <1 TEATRY Wiep ST e §

. Tl 1 ST = 9 1 A

.. Let Jagq

20. First Method :

éJ'tr3 zlnr2><H
3 3
4 3 nr?
—ar° = —xH
3
4r =H
4x5=H
H = 20 cm.
5%=i
20
t =294

(P) = (20)2 = 400 unit
o &MI(S.L) = 20 + 20 = 40 unit

Fshdfg =1 (C.L) = 20 + 20 + 1 = 41unit

1/20 1/20
20 unit 20 unit
1/20
1 unit

1 unit = 41 %o
400unit = 41 x 400
= 16400 %o
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Second Method :

TEA T H S = 5% ;
TR R Ry = 5% ;
oad s CI- S = 22 i
100 :
_5%5_ 95 i
100 !
0.25 = 41%o0 i
_ 41 i AA'AB —Let AB = x mtr.
0.25 i AB A'A
=4 E % 100 : 30° 60° 90°
i R
= %o !
1 x 2’)6
100unit = 164 x 100 %o i Vs
= 16400 %o , AAAC—
21. First Method : i E\\
i 60°
! 30° K—x—u B
l l
i VBx BAf3x
i =3x
! AC = 3
| AB=x
! ~BC=AC-AB=3x-x=2
i 2x = 36 o
- i x =18 Hio
A c ; = T H HSE = x = 18 Ho
tan30 = A A , » 22-25 DI
AC !
1 o A'A i 22. (Intrest on loans)
J3  AC ! 0T o A W R T
AC=43A'A @) =17.5
AA ABH ! Rag (Transport) W &4 = 12.5
A i
|
i 5.0
60° ' = i % 100
A B | 12.5
1 : 1
tan60° = 2 4 | = —x100
AB | 2.5
A'A l 100 x 10
\/7 = ! = =40%
AB | 25 ’
A'A =3AB L) 123w W ES o wer g e swue
A' A F value eq (1) H T@ ® ! 17.5% 15%  10% 5%|
AC =+/3.4/3.AB ; Total = 30%
BC = AC - AB=3AB- AB i 17.5% = 2.45 HOT
36 = 2AB i 1% - 2.45
AB =18 Hto : 17.5

Second Method :
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2.45

30% = =222 % 30 i 325 : 275
17.5 | 65 : 55
_2.45 4 ! 13: 11 Ans.
17.5 i :
245 1 1 25. Transport : Salry
=—x—x10x30 I
175 100 ! 12.5% : 20%
=4.2 Ans. i 125 : 200
24. Infrastructure + Transport : Taxes + intrest i 5 : 8 Ans.
20% + 12.5% 10% + 17.5% i Note : (*) for None of these
32.5% : 27 .5% '
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